4 [BEXICET 5FH]

RPN | - N=| ICEEER
XHETH % |%F % £ ®l %
(BxlHY) | (BxEHT) | (BLxREHT)
o3 X Z 4] = [ §{ 70 106 1. 51
I K I ]’ 4] = [ §{ 70 84 1.20
E) = [i5] = [ §{ 70 114 1.63
A E) — 4] ES [ ¥ 84 109 1.30
-5 X F Ut B OEEY R 70 87 1.24
= = fif 4] ES [ ¥ 84 102 1. 21
E i % kil [i5] = [ §{ 84 163 1.94
5] E B 532 765 1.44
5 [ERARaAZIa=4Hr—2 3 8]
S AE IEEANE ISR
E RS = % £ Fl %
(BLZEHY) | (BxfHT) | (BExHI)
X H X H % Sl Y $4233228-Y3Y 70 82 1.17
e X F BIt™ Y $233220-Y3Y 84 162 1.93
ESRRXRaAIaz=4H5y—S3Y it 154 244 1.58




6 [TXICEYLFH (BEAURKIUSNDER) ]

3 YN | WHEAR IR S e
R S % Al B &

(BxEbd) | (BxEHY) | (BxlbHd)
X R T =|Wuh37b 10 19 1.90
7-F37b 10 30 3.00
177 10 25 2.50
T Ay 10 45 4.50
b 3749979 10 47 4.70
&t 50 166 3.32
B B [ Hil M W 28 35 1.25
5 = 14 20 1.43
2 3 14 33 2.36
RIELE 14 17 1. 21
H 10 105 1.50
I =B XX = H o i 14 9 0. 64
B & = 14 21 1.93
5 = 28 18 0. 64
2 3 14 1 0.50
&t 10 61 0.87
HES X A B - BEE 14 20 1.43
BX - BWT ¥4V 28 39 1.39
BE - BHIE 28 31 1. 11
&t 10 90 1.29
b & L34 BE&HIV 96 13 1.30
#% i X ¥ i BHIT - |]|Ri% 96 45 0.80




6 [TXICEYLFH (BEAURKIUSNDER) ]

3 YN | WHEAR ISEEE

R S % Al B &
(BxEbd) | (BxEHY) | (BxlbHd)
o ¥ oo T #ME = 14 16 1.14
£ ¥ 14 ) 0.36
TEERZX M 28 3 0.1
&t 96 24 0.43
w1 t 2 B I H|EHHEEI 56 42 0.75
=% = 5 T B TH Al 10 121 1.73
B i hd kv T BB EEN 56 33 0.59
IR B i} T o i 14 1 0.50
CS + 14 14 1.00
£ - 28 21 0.75
T 17MYATA 14 13 0.93
&t 10 95 0.79
FF X O #H I R i 14 17 1. 21
£ = 28 40 1.43
TEERX M 14 12 0. 86
TREAM 14 19 1.36
& 10 88 1.26
®T H X H H I HKRSER 10 95 1.36
g & X % EBE I HXH i 28 52 1.86
XKE = 14 25 1.79
KRR L 14 15 1.07
T a7WYATA 14 23 1.64
5t 70 115 1.64
PRI X B £ I H# i 28 21 0.96
# 3 28 41 1.46
#LF 14 17 1. 21
& 10 85 1. 21
T (Bfu®lst) &t 960 1,198 1.25




7 [IXICEHTLFH (BAFIDFER) ]

RPN | - N=| IEER
X ET§t % £ Fl %
(BxfbHT) | (BxlHT) | (BxREHT)
X H il EN DAL N = 12 6 0.50
A = 12 18 1.50
YATLI = 12 19 1.58
T AVIE 12 21 1.75
T 1TMATA 12 7 0.58
=B v2 it 60 71 1.18
8 [HZEHfrs]
S5 AE IEEANE ISR
X ETHt 4 £ ®l %
(B&xfHT) | (BxEHT) | (BxEHT)
I B g fit7 | B 2 Al 70 78 1. 11
INEF % [ B 7| Rl il 63 106 1.68
B2 R it 133 184 1.38




9 [RXICET 5%FR]

BE AR WHEAE EEE
XETF % [F ® Al ® %

(BxfEHT) | (BxEHT) | (BxEHT)
HEAS = = 21 42 2.00
B AR 10 26 2.60
EJ) ) 10 42 4.20
&t 4 110 2.68
2 it = =[E=E#ZF 12 16 1.33
BaEE 24 4 1. 71
FRHh ER IR 12 13 1.08
&t 48 10 1.46

B = E(E=ETY 1 28 31 1.11
B LT 28 48 1. 71

& 56 19 1.41
FF & = X|HHE= 14 47 3.36
BmiF 14 28 2.00
fok L 1 1D 14 12 0.86
& 42 87 2.07
I & I G = =(BE=HF 10 14 1.40
BERE 10 21 2.10
B AR 10 19 1.90
& 30 54 1.80
= ES & 217 400 1.84

10 [KEIZEY 5% 8]
BE&EANE WHEAR IBEEER
XETF % [F ® Al ® %

(BxfEbHY) | (BxEHd) | (BxlbHd)

X 5 X B B F B RBIFER 28 48 1.7
K B 5t 28 48 1.71




1 [REICEY 2FF (BuHUNDER) ]

BE AR WHEAE EEE
XETF % [F (53 Al ® %
(BxREHT) | (BxBEHY) | (BrEHT)
it D/ # it ®(RE - RE 42 58 1.38
ik = 10 40 4.00
& 52 98 1.88
FF = (& & 10 36 3. 60
g Y 10 31 3.10
&t 20 67 3.35
I I 7 = =(EF/TH AV 21 31 1.48
RE (BfLHILsy) &t 93 196 2.1
12 [REICEY 2FH (BAFOFR) ]
BE AR WHEAE EEE
XETA % [F B Al ® %
(BxREHT) | (BxBEHY) | (BxEHT)
B X T | £ E R 21 40 1.90
B o # St 21 40 1.90
13 [fB#LICBAY 2% RH]
BE AR WHEAE EEE
XETA % [F B Al ® %
(BxREHT) | (BxBEHY) | (BrEHT)
it D/ # it fa|rEEfEAL 10 11 1.10
®T H £ = M8 10 7 0.70
= b & 20 18 0.90




14 [BEHICEHT 55FH]

BE AR WHEAE EEE
XETA % [F B Al ® %
(BxEHT) | (BxBEHY) | (BxEHT)
I = X OB 2 B MEEERK 8 11 1.38
I x hva NI{BEE % 8 9 1.13
H £ & 16 20 1.25
15 [ZEICEEY 2FR]
BE&EANE WHEAE IBEEER
XETA % [F B Al ® %
(BxEHYT) | (BxEHT) | (BxEHT)
OB o & = g 12 46 3.83
x  fff 24 131 5.46
BERE 12 58 4.83
= T & 48 235 4.90
16 (ABICBEY 5FH]
B&EANE WHEAR ISEEER
XETA % [F B Al ® %
(BxEHT) | (BxBEHY) | (BrEHT)
B A L7 5(RIgEE 12 49 4.08
H £ = Bliix & 12 16 1.33
12 B & 24 65 2. 71
17 [ERRBERICET 228
BE&EANE WHEAR IBEEER
XETF % [F (53 Al ® %
(BxEHT) | (BxEHT) | (BxEHT)
B & 3] y[Ed 3 42 154 3.67
E3] 3 & 42 154 3.67




18 [HtER]

BE&E AR WEANE ISEfEE
RHETHE % i B4
(BxEHT) | (BxEHT) | (BxEHT)
N X AN E= - R 2 0 0.00
g & 2 0 0. 00
19 [E%H]
BE&E AR WEANE ISEEE
RHEAE |2 5 HE (HB)
(BxEHT) | (BxEHT) | (BxEHT)
= H i E E 3 84 95 1.13
INEF X )N E F ST Y 1n% 21 59 2. 81
XI5 B 10 24 2. 40
VATMEHR 7T 10 33 3. 30
t" Y #2EHR D B 21 33 1.57
&t 62 149 2.40
3 E 3 146 244 1.67




20 [#E&ZFH]
BHEAE Ir-YN-| B ER
XHETHE  [# ® & B £
(BxEHY) | (BExMHY) | (BxMbT)
¢ X B & # &k & 84 277 3.30
X H ¥ 2 T # &K & 72 124 1.72
HES X # B & # &k & 72 138 1.92
¥ i X & % #B &R & 66 196 2.97
i S F i &l & 72 190 2.64
B X OB Ofi # BB & 60 111 1.85
7 B X F OB # &K & 72 212 2.94
BT H X HEH H # &K & 72 111 1.54
RABK X R A B XK & &K & 12 138 1.92
. X B OE # &K & 72 135 1.88
0 & B 714 1,632 2.29
21 [ERFH] BRI
H&EAB BEANE B E
XHETHE  [# ® & B £

(BxfHY) | (BExBHY) | (BxMEHT)
woE E3i F 1 wliEHR 2 - 45 19 59 3.1
ERFH] Bk & 19 59 3.11
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Fl=, FAEBERRO D BRABITKEMADNTVEERKIT, ZOEMOA THANEEZERET 5.
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